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He selects and eats food from amidst waste — 0102 707 92I8 929181 9712

OVERVIEW

X177 27 interpreted the Xn>>1a that when it states 93181 7712 or I 9712 it means
he may be n?109 7Inn 21X 9712, and when it says nXvn 21 that is by n9109 72
901 7%, Our MOOIN compares our X3 with other seemingly contradictory nnma.

- 793 119993 197 PR NDIDS PINN YINT Lynun

It seems that selecting n®192 TN ®2IX is not the manner of 779°92, which is
prohibited; rather 77°72 is 223 i1 N0 —

nvoN asks:
- 9109 TINN YN 93 29992 HY 1997 A1 19NN (x,nvp 1P PIIN P9 YWIIAT YD)

And there is a difficulty, for in the beginning of "0 P2, 12 stated, ‘what is

the manner of "2, he takes the food and leaves the waste’; indicating that 92
n705 N7 is the proper manner of 771°72, not like X117 21 states here!

nBoIN answers:
- 4119592 797 N2V TINN YN NN HINN DY N3N NIV ONNT 920 YN

And one can say that there in 7710 719 the n9102 is more than the 2R, therefore

selecting n?I05 TN 9238 is the 77992 997; moIn explains how we know that there the

n?109 is 92187 7Y 7210 -
= 999N S9nYna onnt

For there we are discussing a»wn (straining) —

n1voIN asks:
= 210 092 MNP 99920 (3,1 91 NNYAT NP D992 1INT DHYAN )2 PUNY 19%29Y DY

And the X' 2w has a difficulty, for we learnt in a 7712w2 in the first P99 of n>on
1x°2; ‘one who is selecting legumes (beans) on ©"'Y -

! X11m7 27 rules that (only) by %2R 7102 19100 7712 is there a nxvn 210 (for that is 77772 777), but 19100 TR P2 is
permitted (for it is not 752 771°32 717). This indicates that the 77°12 211 is only where he is 223 TWn» n7109 1702
2 The n"27 MAxT amends this to read N109 MY 921X H©11 7712 (instead of 12109 TINA 72318 7712 M2).
3 The process of selecting is when one selects a few (or less) out of many. Since the minority is 92 therefore 72
N0 71 (when it is not 71 79°5KX?) is considered 1M2.
4 However here the 23X is more than the n109, therefore selecting N2105 71N 921X is not 77°72 777, since the X is
in the majority (see footnote # 3). If however he will be 9218 7In» n?00 M2 that is considered 7712 717, so he is
2.
5 The person is straining the dregs of wine to remove the little bit of wine that is remaining in the dregs. The dregs
are the majority and the wine is in the minority; when he is selecting the 1 from the oW that is 77°72 777 and he is
2»n (for there it is certainly not 37°8 777).
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w'2 say he selects the food and he eats it, however 771''2 say he is 12972 9713,

meaning he may remove the 751877 12 N?I00 -
= NY09N0 HY N2 HIINNYI D91IN D927 N9 N2 9IN)

And 7X°%13 127 states in the X923, ‘when is there this dispute where 17"2 maintains

19775 7712, when the 2R is more than the n®p -
= NN NN N2 TN NN VI 7991 1927 HIND YY 12191 NYID YaN

However if the n»1op is more than the 22X everyone agrees he takes the 298

and leaves the n9192°. This concludes the citation from the X723 there. Mmoo asks -
= N9 797 nyMoo T 59IN "1 H9INN Y N299) NYIDOA IN)

And if (as we just said®) when the N2 is ¥218:77 ¥ 1721772 so then n?1E2 TInR IR
is 719992 797 -

$OY POY 7298 19999 9929 9DN 1NN RN PINNPY 1Y ’9Y 99N
How is it permissible for w'2 to be n05 TN 221X 7712, since they prohibit to

be 12972 9712 on v"71’; and we require contemplation there to understand the view of
w"1 according to 3".

SUMMARY
The 777 of 717"M2 is to select the few from the many.

THINKING IT OVER

The X"awA asks his question from the X3 in 7%°2.1° However the X n3 there
concludes that we cannot be discussing 921871 2¥ 7219 n9109, for then it would even
be forbidden to move it (because it is 7¥pm), but rather it means that it was more
difficulty to select the n9105 than the 31X, w">¥; what therefore is the question?!!!

® This is in a case where the %2 is N10577 ¥ 721 (see shortly); where even though he is %237 Tnn N0 7712
(which is the easier and normal way to do it, since there is less n2109), nevertheless it is 2nn for according to 7"
there is no 772 MO°R on v", however "2 maintains there is an 772 MO°X on v"Y.
77"2 also agrees that since there is more N7109, one cannot be 23 TNM N0 7M1 (for it is a 77°N° XAY).
8 See footnote # 3.
° How can "1 maintain that by 92371 ¥ 7217 09109 all agree (including w"2) that he is n'2109 TN 93X 7713, however
we just said that by 2871 ¥ 7219 n?109 the 77732 777 is to be 19109 TN 9% M2 and w2 disagree with 17" that one
may be 13773 1712 on v"y (if that is the 7712 777), so how can ¥"2 maintain that n?09 73071 931X 712 in a case where
991877 Yy 121 oo, See “Thinking it over’.
10 See footnote # 9.
11 See oonow pnn.
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